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Lets take every trade without filtering.

A. Short

B. Long

C. Short

D. Short

E. Long

F. Short

The stoploss was about 50 pips min in the first place. I would have
used the three stages entry reducing the stoploss risk as on page 15.
Loss of about 40 pips

Profit of 100 pips.

Profit 50 pips

Stoploss over 55. Potential profit to 21EMA maybe 25. Not worth it.

Profit 100 pips

Profit 100 pips



G. Long
Stoploss 60 plus. Not worth it with profit to 21EMA

H. Short
Was a good setup. Stoploss 60. Would use entry spreading.
Profit 40 pips

Last one Long with stoploss below trendline . Profit 50 pips

You can work out the damage.

Good luck



